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48 × 3 = 144 p  

15 + 26 + 34 = 75 cm 

     142  

    -123 

4000 ÷ 50 = 80 boxes 

28 × 12 = 336 seats  
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Identify for the following exercise, what mathematical operation 

should be used to solve: Add , subtract , multiply or divide. 

 

1) Julia bought 3 cartons of milk. Each carton costs £48 .How 

much did he spend on milk? 

 

 

 

 

2) I have three pieces of rope. One piece is 15 cm long, another 

piece is 26cm long and the third piece is 34 cm long.What is 

the total length of rope that I have? 

 

 

 

 

 

3) My brother is 123cm tall and I am 142 cm tall. What is the 

difference between our heights? 

 

 

                                019 cm 

 

 

4) 4000 apples are packed into boxes, each box holding 50 apples. 

How many boxes do we need? 

 

 

 

 

5) A school hall has 28 rows of seats. Each row has 12 seats. How 

many seats are there? 

  



         750 

        -463 

72 ÷ 12 = 6 years 

15 × 9 = 135p cost 

6) A shop starts with 750 cans of cola and sells 463. How many 

cans are left? 

   

  

      287 left 

                                    

 

7) A factory started the year with 82 workers. During the year 

36 people left and 28 people joined. How many workers were 

there at the end of the year?  

  

 

  

 

 

 

8) How many years are there in 72 months? 

 

 

 

 

 

 

9) I bought 15 oranges that cost 9p each. How much did I spend? 

 

 

 

 

 

 

  10) There are 278 boys in a school. There are 197 more girls than 

boys.Find the total number of students in the school.  
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         82 – 36 = 46 

46  

 

 

          46 + 28 = 74 workers 

 

 

     278 + 197 = 475 girls 

   

 


